Algebra I

Unit 9 Review Name 4&5
T LS0WRODS, X-TinTerceps)

Find the roots of eacf'l of the following equations. vse a“q m.e\-\”d,

'1. 2x£—3x—14=0 [x‘al?x:.’): za'x’\zn é—o C"a)
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3. ¥*+7x=-10 4. 6x* =42x

X24{IxX4\0=0 Lx3-42x=0
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Find one of the solutlons of the following equations
5. 3x*~8x=-4 6. x*—10x = - 21
3x2-gx +{ =0 _H_ x2-lox+21=0
A. (-2,0) C. [o%] A. (-3,0) 20,7

(3 ) 13,78 o

7. Find the quadratic equation (in factored 8. Which of the following equations represents
. , roblem #7 in standard form?
form) that has the given solutions. x : { -7, 2} P
X=-3 Dowmeowhﬁmﬁwr
.
=7y x2) |k - X=2 M y=x+9x+14 e ‘oor
Y=(X 7)(x+ X‘t" (0 x*z s B y=x"-5x-14
C. y=(x+7)(x+2) BT y=x*+5x+14

D. y=(x-7)(x-2) T3 ) Ey X" +5x - ﬂ X mm




ondewt _independent

9. If Vis a function of Xin the equation y = x* — 9 which statement is true?

F The independent variable x is equal to 9 less than the square of the dependent variable y.
M T'he independent variable@is equal to 9 less than the square of the dependent variable x.
_H The dependent variable yis equal to 9 less than the square of the independent variable x.
*he dependent variableé&s equal to 9 less than the square of the independent variable y.

10. Which of the following doesﬁ@epresent the function f(x) =%x2 -37? W" ‘n @‘ ww

7 A
“a{. T {C.J) * y
y 0 b JlJ
\ ) i
; / -3 -2
\ ,:I
-1 -2.75
b g | f
0 -3
$ 3 =2

:Bf‘ The dependent variable y is equal to three less than the product of one-fourth and the square of
“the independent variable x.
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11. What are the roots of the function graphed to the right?

XK 1,-9)and (0, -8) %
P74 and (2,0 - L‘ ) 2%
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@(-4,0)and(2,0) “:O p r-q-a_f\e.e_ijzi;f,lb‘ o
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D. (0, 2) and (0, -4) - ;
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12. Find the x-coordinate of the vertex in the equation y = x* —3x +2 r =
-
et L

'2-0) - %

13. How many roots does.the function y =x*-2x-3 have?
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14. Which lists the functions of the form 15.How would the graph of V= X +28”
y=ax® in order from the widest to the compare with the graph of 3" _x-107 ,°°

narrowest? I%‘\O\’Q (\ega’nws

3 1 11
A, y=2xy==xt,y=—x’y=2x"
Y 5 Yy 3 Y 2 Y

) 1 2 3 2 11 2 2
fy=—x",y=—x",y=—x",y=2x
y 3 Sk =g

x — 22 _1l, _3x2 1, above the graph of y=-x*-10.
T 8 ’ >y—5 ’y_?’x The graph of y=-x*+2 is narrower

x y:2x2,y:%x2,y:%x2,y:%xz v :‘:" than the graph of y=-x*-10.
' X The graph of y=-x*+2is wider
than the graph of y=-x*-10

A. The graph of y=-x*+2is 8 units
above the graph of y =—x>-10.
The graph of y=-x*+2is 12 units

16. The equation f(x)=—x*+16x+336represents the total number of new Wii games that a store

sells each week where x is the number of weeks since the game was released. If the store sold 204
games this week, how many weeks ago was the game released?

e -2 A o
Zoq=Chenzze CRAToR | 22 weels]
0=-X2¢\px +122 %-X,Z’l}

17. The length of a rectangle is 3 cm more than the width. The area is 70 cm?. Find the dimensions

of the réctangle. W l%W\ = 10 (W“"")(W\'\D)" 0
W 3wiw®=T0 21,45
Azdw  wW?t3w-30=0 We3cm |

18. Which one of these graphs has a parent function of y=x*? Jg ‘D (A )'e) ﬂr
R < Do I —
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19. Answer the following questions about the graph below.

. What is the vertex? (2‘11..2]@ —— j 'J.yw

3

. Is the vertex a minimum o

. What are the ro%ts of the quadrati rc 0)
| :0) (",

a
b
C
d. What is the axis of symmetry?
e
f

45
™~

. What is the value of f(1)? S Iﬁs i) ) 74 b

. What is the domain? /]
. A.all real numbers B. -1<x<5 /~
C. -5<x<4 D. x<4 /4 "
g. What is the range? | ABP:_DW@—
Xall real numbers B. y>4
rLC y < ﬂ D. y<4

20. What are the three other words used for the solutions of a quadratic equation?
;ﬂm@c?pk {ODAS 2eY0eS

21. A function is described by the equation f(x)=x? -3. The replacement set for the independent
variable is {-4, -1, 2, 4}. Which of the following is contained in the corresponding set for the

dependent variable? _ n“g‘n‘\.o ‘5 _
: 2 look @iable 11%°2),13%

22. An object is hurled upward from the ground at an initial velocity of 128 ft/s. The height, A, in
feet of the object at any given time, ¢, in seconds is A(t) =128t -16¢>. 1411 f)-h qﬁ

F. State the domain and the range of the situation.

A. When will the object reach a height of 192 feet?
2.5ec} o se’ i,,J

B. When will the object reach the ground? TR
gsec o i e

C. When will the object reach its maximum height? ™
Hsec .

D. What is the maximum height of the 2 object? 12 P
250 & - L

E. Graph this situation, Iabelmg axes. 8 Y
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